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The maximum value of z=5x + 2y, - ABLES .
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For the following feasible region, the ABLES (o
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Objective function of a L.P.P. 1s ABLES ‘.
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The maximum j@lue of P =x+3y
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The feasible region for an LPP 1sshown =< =73m"-%3 ABLES ...
shaded in the figure. Let Z=3x—-4y(0,4) - @ 3z

be the objective function. Minimum (v1v)o —7 2
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Feasible region for an LPP 1s shown ABLES ...
shaded in the following figure.
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The feasible region for LPP 1s shown
shaded in the figure. Letf=3x—-4y
be the objective function, then ¢ ., c
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